
Fiche 6 = avec reste ou sans reste 

 

 Dans ma tête, j’utilise les tables : La réponse est 
45 : 5 = 9 x 5 = 45 9 ou 9 reste 0 

23 : 9 =   

36 : 8 =   

52 : 7 =   

45 : 6 =   

32 : 5 =   

17 : 4 =   

23 : 3 =   

13 : 2 =   

49 : 9 =   

56 : 8 =   

 

  



 Dans ma tête, j’utilise les tables : La réponse est 

45 : 5 = 9 x 5 = 45 9 ou 9 reste 0 

23 : 9 = 2 X 9 = 18 + 5 2 reste 5 

36 : 8 = 4 X 8 = 32 + 4 4 reste 4 

52 : 7 = 7 X 7 = 49 + 3 7 reste 3 
45 : 6 = 7 X 6 = 42 + 3 7 reste 3 

32 : 5 = 6 X 5 = 30 + 2 6 reste 2 

17 : 4 = 4 X 4 = 16 + 1 4 reste 1 

23 : 3 = 7 X 3 = 21 + 2 7 reste 2 

13 : 2 = 6 X 2 = 12 + 1 6 reste 1 

49 : 9 = 5 X 9 = 45 + 4 5 reste 4 

56 : 8 = 7 X 8 = 56 7 

 


